1573 Savoie
C. P 4 Plessisville, Qc. G6L 2Y6

@ TEL: 819-362-7207
LEC|erc I.ooms FAX: 819-362-2045
Since 1876 www.leclerclooms.com

leclerc@leclerclooms.com
SPECIAL WHEELS KIT FOR THE COMPACT LOOM

THE KIT INCLUDE:

2 wood blocs with wheels
2 carriage blots 2%" x 1/4”
2 Washers 1/4”

2 wing nuts 1/4"

2 screws #8 2"

Wing nut and washer

INSTRUCTION:

As you can see the blocs sit on the back cross
member and screw to it with 2 screws #8, 2.
Use a drill 1/8”" to make the pre-drill holes.

Use a drill 1/4" to make the pre-drill hole for the
carriage bolts.
The wing nuts goes inside the loom.

Round head screw #8 - 2"

Carriage bolt 1/4” x 3"

Screw that hold the cross-member
already in the loom

inst_indesign/compact/comp_Weel.indd



